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.3:[25in[£]Cos(£) (Sm ﬁjj ,4:[%:(Tan(45°):1)] t
8 8 2 1 - Tan(22.5%) h
Ans2 = [Cos(ZZS ) - Sin(22.5%) —(Cos(45 y@)) .6:(Sin(72°)Cos(12°)—Cos(72°)Sin(12°):(5in(60°):€)]> , %
(&)l ) "
Tan| + Tan| T
(ol enl)-sul sl )< ed5)-3)) e ER G '
.7=| Cos| Cos| Sin| Sin| Cos| = 8= = Tan| =1 2)
18 18 18 18 3 2 T 11n 4 -
1- Tan[*j Tan( ] o
15 60 2
2 -z
_9 (Cos(SO")Cos(20°)+Sm(50°)Sm(20°) (Co%(}O")-f]j .1():[2Cos[%] —1—(Cos[6):gjj l(
L N o
2
o
:[Sin(a):gj .2:[Cos([3):£) .Iz[Sin(a):—Z«éEJ (Cos(ﬁ)——Lj M
a
33 16 3 15 10415 3
.3:[Tan(a):£] [Sm(B W= g] :[Tan(B):—%j .4:[sm(a+ﬁ):ﬁf+£] ;l
Ans3 = Ansd = _
12 4 254/33 49\ 3415 10 494/54/3 964542\ | @
5= [Cos(aﬁ»ﬁ)—f ;/7] .6:{Tan(a—ﬁ):—97[+gj .5:{Cos(u—[3):— “2/877%] .6:{Tan(ﬁ—a):—%+#J by,
U
[Sln(Za)—gr] .8:(Tan(2[3):%j .7:(Cos(2a):%j .8:[Tan(2B):—§j T
2
L]

AnsS = (Sin(29°) = (Sqrt(0.2350) = 0.485)), {

|
|

Ans6 = (Cos(14°) = (Sqrt(0.9415) = 0.970)),
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2
o«
((Snjﬁﬁﬁ ( oﬁﬁﬁj M
d=| Cos| == |= 2 22| sin(15°) = A= ;
12 4 4 4 4
3=(Tan(105°) =2 —4/3) 4=(Col((-75)°) =—2+4/3) ;
- 17
Anst .5:(Sec[— l;j:ﬂ/f«/?ﬂ/?] 6=(Tan((-345)°)=2-43) [ | @
M
1 2 2
.7:(@{ 9n)=[ﬁ L] 8=(Csc(195°) = /2 43 —42) U
12 4 4 T
2
Lo d

)
o(
[ 1=(Sin(80°) Cos(10°) + Cos(80°) Sin(10°) = (Sin(90°) = 1 2*(28' (L)C (l)—(s (E]*lj] 2
.1 =(Sin(80”) Cos(10”) + Cos(80”) Sin(10”) = (Sin(90°)=1)) 2= in| 12 05| )" in| 6)=2 o«
3*[S' (ZJJC (LJ C [ZHJS' (L)*(S' (ﬁj,ﬁn 4=(Cos(102°) Cos(12°) + Sin(102°) Sin(12°) = (Cos(90°) =0 "
.3 =| Sin| 5 05| 5)” 05| 5 in| 5" in| 37 4= (Cos( ) Cos(12°) + Sin( ) Sin(12°) =(Cos(90°)=0)) a
57 T !
Tan(12°) + Tan(48%) Tan g )~ Tanly ) 43 "
ns2 = .5:{f:(Tan(60°):ﬁ)] 6= Siz[Tan(g]:T] @
1 - Tan(12°) Tan(48°) 1+Ta.n(ijTan[£j M
18 9 U
2 a
.7:[(:08(22.50)27Sin(22.5°)2:(C05(450)=ﬁ]) .8:[2COS(£] - :(COS(EJZﬁ]J 9
2 8 4 2 A
o o
:[%:(Tam%c’):l)] .1():[1—ZSin(15°)2:(Cos(30°):£ ] 2
L I - Tan(22.5%) 2 ] v
)
L N o
2
o
5 21
.1:[Sin(a):g] .2:[Cos(ﬁ):g _1:[Sin(a):—2;/EJ .2:[Cos(B):—@ M
a
5 4 5421
,3:[Tan(a):§] .4=[Sin(ﬁfa)=fgfflfj ,3=(Tan(a)=24/5) ,4:[Sin(B*a):*é «/E;/EJ ;t,
Ans3 = Ans4 =
2421 24/5 2545 9421\ ’ @
.5:(Cos(a+[3): {:+7§J .6:[Tan(a—[3): 3[+ ;/:J ,5:{Cos(a—ﬁ)z@—@) .6:(Tan(u+ﬁ):—8f+9fj AC,;
U
.7:[Sin(2a):#j .8:[Tan(2[i):—41721] .7:[Cos(2a):§j .8:(Tan(2B):~\/?) T
)
L]

M
Ans5 = (Cos(34°) = (Sqrt(0.6875) = 0.829)), [ U}
T

M
Ans6 = (Sin(4°) = (Sqrt(0.0050) = 0.070)), [ U
T

[
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)
(
.1:[&»(15"):£+Mj .2:[Sin(5—"):£+M] M
4 4 12)7 4 4 P
,3:(Tan(71;):—z—ﬁ] 4=(Cot((-255)") =2 +4/3) ;
Ansl = A
5:(cSc(flj:ﬂ/5«/§fﬁJ 6= (Sec((-105)°) = —/2 /3 —4[2) %
U
7:[3.1{7”—“]:&&7@] 8=(Tan((-75)°) =2 —4/3) T
12 4 4
)
Lo d ) .
)
o
B O o R o o R e s R O S N
.1 ={28Sin| ——|Cos| — |=|Sin| —|== .2=| Cos| —— | Cos| — |- Sin| Sinf —|=| Cos| —~|="— o
12 12 6) 2 36 9 36 9 4)” 2 Iy
,3=(1 fZSin(15“)Z=[Cos(30°)=£jj ,4=(Sin[13n)COS(EJ*COS(ansin(EJZ[Sin 1):£Jj a
2 36 9 36 9 4)" 2 .
2n T n
2 Tan(22.5°) Tan 757 )~ Tan 5 = @
Ans2 = .5:[7;(%1(45"):1)] 6= T:[Tan{ﬂ:ﬁ} "
1 - Tan(22.5%) 1+ Tan[*j Tan[*)
5 15 U
2 T
.7:[2 COS(%J -1 :(COS[%):@]J .8:[Cos(42°)Cos(12°)+Sin(42°)Sin(lZ"):(Cos(}O“):@]] )
o o A
9= [M: (Tan(60°) :ﬁ)] 10= (COS(ZZ.S(')Z —Sin(22.5°) = [CDS(45°) :ﬁJj Pl
L 1 - Tan(20°) Tan(40°) 2 "
)
Lo | -
2
o
3 -4
.Iz(Cos(a):gl .2:(Sin(ﬁ):—@j .Iz(Sin(u):—gj .2:(C05(B):;j M
a
.3:(Tan(ﬁ):£j .4:[Sin(a+ﬁ):—g—iJ .3:(Tan(B):£) ,4:(Sin(ﬁ—a):l—g] !
Ans3 = ; «/; 7;/720192 , , Ans4d= 24 3ﬁ ;2«/;548 b, g)/
.5:[Cos(a—ﬁ):—%—TJ .6:(Tan([3—a):— 3 +¥] 5= Cos(a+[3):—g+ IOJ .6:(Tan(0.—[3): T —HJ M
(e -3) (2= ) [smaer-- [recn-2) | |7
7=|Cos(2B)=1 8=|Tan(2 o) =— 7=|Sin(2a)=-——— 8=|Tan(2p)=— T
8 7 2 7 )
L)

Ans5 = (Cos(3°) = (Sqrt(0.9975) = 0.999)), , [

[E

Ans6 = (Sin(25°) = (Sqrt(0.1785) = 0.423)),
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)
A
.]=[COS(75(')=ﬁﬁ7£) ,zz(sm[ﬁ):£+ﬁﬁ] M
4 4 12) 4 4 P
o) el i)mg) | |
Ansl = )
5=(Cot((-345)°) =2 +4/3) (Sm(( 75))—7§7ﬁ4ﬁ] g
U
.7:[Tan(77i):2+«/7 (CDS(( 255)° )_L—ﬁﬁj T
12 4 4 )
L]
) 2]
I:EZSm[ jCos(lj:(Sin[Ejzljj .2:[%15)2:[Tan(30°):£j] )(
12 12 6) 2 |- Tan(15°) 3 "
oy [ ) v
3:(sm(12°)cOs(1s°)+cOs(12°)sm(1s°):(sm(3o°):£jj 4= 77:[Tan(§j:1] a
lfTan[ ]Tan(ij !
18 36 h
2 2 @
2] 5 cof 22)cof 22) s 22 )i 32 cof £)-2)) o= cof 2] (2] <(cofZ)-L2)) |||
36 36 36 3)72 8 8 4)" 2 U
™ n
: I a3 )l 7 !
J:(Z Cos(2245°)‘—l:[Cos(45°):*)] 8= 7:(%{5]:1) PA
2 T T 4 .
1+ Tan(*J Tan(*j o
3 12 Y
. o S 106 o1 e o i3 o
9=| Cos(70") Cos(10°) + Sin(70°) Sin(10°) =| Cos(60°) = 10=|1-28in(15") =| Cos(30°) ==~ ~_)
Lo
_1:[Sin(a):§] (c@sm)—f—zfj .1:[Cos(a)—— j 2:[Sin<6):f@]
3= Tan(ﬁ)z—fsﬁ =( sin(B - a>—3+[[ 3=| Tan(ay = = sin(a - ﬁ)——l—ﬁﬁ
Ans3 = 12 7 Ans4 = 30
-5:{(305(“*13)‘ *[*LJ {Tan( -B)=- 40[[—49[J .5:[COS(0L+I3)— L—LJ .6:{Tan(ﬁ—a):7zf+125ﬁ
1“7 51 15 481 481
7:(Sin(2cx):§] 8=(Tan(2 ) =2046) 7=(sm(2a)_518“j 8:[Tan(2ﬁ)=4“1/7271]

M
Ans5 = (Sin(7°) = (Sqrt(0.0150) = 0.122)), [ U
T

1
y

[

M
Ans6 = (Cos(33°) = (Sqrt(0.7035) = 0.839)), [ U}
T
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